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Conversion Table to Sl Unit
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1 FE) kgf N (Z2—F>) 1kgf=9.80665N 1N=0.101972kgf
(91274 kgf - m Nm (Za—hk>-A—=HKJV) | 1kgf - m=9.80665Nm 1Nm=0.101972kgf - m
kgf/cm? MPa (A A - /XRAIV) 1 kgf/cm*=0.0980665MP 1 MPa=10.1972kgf/cm®
£ (#0) kPa 1 kgf/cm®=98.0665kPa 1 kPa=0.0101972kgf/cm?
mmHg 1 mmHg=0.133322kPa 1 kPa=7.50062mmHg
mmH.O (mmAqg) Pa 1 mmH.O (mmAq) =9.80665Pa 1 Pa=0.101972mmH.O
= kcal J 1 kcal=4,186.05J 1 J =0.000238889kcal
IxRIF— kW - h (S2—1) 1kW - h=3,600,000J 1 J =0.000000277778kW - h
B kgf - m - 1kgf - m=9.80665J 1 J =0.101972kgf - m
ftE== kcal/h W 1 kcal/h=1.16279W 1 W=0.86000kcal/h
Ix PS (T ) 1PS=735.5W 1 W=0.00135962PS
P kgf - m/s 7 1kgf - m/s=9.80665W 1W=0.101972kgf - m/s
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) mmHg Ibf/in
Pa kPa MPa bar kgf /cm atm mmH0 T (psi)
1 Pa = 1 1X107° 1X10° 1X10° 1.020X107° | 9.869X10™° | 1.020X 107" | 7.501X10™* | 1.450X10~*
1 kPa = 1X10° 1 1X107° 1X107 1.020X107* | 9.869X 107 1.020X10° 7.501 1.450X 107"
1 MPa = 1X10° 1X10° 1 1X10 1.020X 10 9.869 1.020X10° 7.501X10° 1.450X 10°
1 bar = 1X10° 1X10° 1X107 1 1.020 9.869X 107" 1.020X 10 7.501X10° 1.450X 10
1 kof/em* =] 9.807X10' 9.807X 10 9.807X 107 | 9.807X 107" 1 9.678X 107" 1.000X 10" 7.356X10° 1.422X10
1 atm = 1.013X10° 1.013X10° 1.013X 107 1.013 1.033 1 1.033X 10" 7.600X10° 1.470X10
1 mmH0 = 9.807 9.807X10™° | 9.807X10™° | 9.807X107° | 1.000X10™* | 9.678X10™° 1 7.356X 107 1.422
1 mmHg =] 1.333x10 1.333X107" | 1.333X107* | 1.333X10°° | 1.360X107* | 1.316X10°° 1.366X 10 1 1.934X107*
1 Ibf/in =| 6.895X10° 6.895 6.895X107° | 6.895X 107 | 7.301X 107" | 6.805X 107 | 7.031X107" 5172X10 1
W Y A I
MERABRER
(FHEE) (ENHLE)
P cP kg/m-s Pa:s lb/ft:s St cSt m*/s cm’/s ft/s
1 P = 1 1X10° 1X107" 1X107™" | 6.72X107° | | 1 St = 1 1X10° 1X107 1 1.076X 107°
1 cP =] 1X107* 1 1X107° 1X107° | 6.72X107 1 cSt =] 1X107° 1 1X107° 1X107 [1.076X107°
1 kg/mrs = 1X10 1X10° 1 1 6.72X107" 1 m/s = 1X10° 1X10° 1 1X10° 1.076X10
1 Pas = 1X10 1X10° 1 1 6.72X107" | [ 1 om’/s = 1 1X10° X107 1 1.076X10°°
1 Ib/ftts = 1.488X10 | 1.488X10° 1.488 1.488 1 1 ff/s = 929X10° | 929X 10" | 9.29X 107" | 9.29X10° 1
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(B#) St=1P (=g/cm-s) / (g/cm®)=cm?/s
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